Review for Rational Functions 
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Horizontal asymptote: 
___________________

Removable discontinuity (hole):_______________

Vertical asymptote: 
___________________

Slant asymptote:
 ___________________

x-intercept: 
___________________

y-intercept: 
____________________
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Horizontal asymptote: 
___________________

Removable discontinuity (hole):_______________

Vertical asymptote: 
___________________

Slant asymptote:
 ___________________

x-intercept: 
___________________

y-intercept: 

        ____________________
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Horizontal asymptote: 
___________________

Removable discontinuity (hole):_______________

Vertical asymptote: 
___________________

Slant asymptote:
 ___________________

x-intercept: 
___________________

y-intercept: 

        ____________________
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Horizontal asymptote: 
___________________

Removable discontinuity (hole):_______________

Vertical asymptote: 
___________________

Slant asymptote:
 ___________________

x-intercept: 
___________________

y-intercept: 

        ____________________

Solve the inequality.  Find exact solutions when possible.  If you need more practice, look at the evens from the solving inequalities homework.
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9.  Is it possible to have a slant and a horizontal asymptote in the same graph?
10.  What is the only type of asymptote that cannot be crossed? 


11.  Given the following functions, what are the horizontal asymptotes if they exist?
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